· More facts about log's: • $\log_{b}(\frac{1}{6}) = \log_{b}(1) - \log_{b}(b) = 0 - 1 = -1.$ $\frac{1}{\log \frac{1}{b}} \frac{(x)}{b} = \frac{\log b(x)}{\log b(x)} = -\log b(x)$ · So logy (x) has the graph of logy (x) fliped vertically: l0g,(x) <u>log:</u>(x) 1 (F) perivatives of logarithms and exponentials. · Grad of this lecture: know how to compute the derivatiles of (log's) and (exp's) (we already know this.) · Find the tangant line to the graph of lin(x)? (h(x), x) (x, ln(x) tangut line to e^{x} at h(x): slope $= \overline{dx}e^{x}$ $x = h(x) = e^{x}$ x = h(x)tangent five to ln(x) at x must has reciprocal slope =-

Thus
$$\frac{d}{dx}(f_{n}(x)) = \frac{1}{x}$$
.
How about $\frac{d}{dx}\log_{b}(x)$?
Thus let $b>0$ and $b\neq 1$. Then $\frac{d}{dx}\log_{b}(x) = \frac{1}{e_{0}(b)} \cdot \frac{1}{x}$.
Bf. Note via the change f have, $\log_{b}(x) = \frac{1}{e_{0}(b)} \cdot \frac{1}{x}$.
Bf. Note via the change f have, $\log_{b}(x) = \frac{1}{e_{0}(b)} \cdot \frac{1}{x}$.
Bf. Note via the change f have, $\log_{b}(x) = \frac{1}{e_{0}(b)} \cdot \frac{1}{x}$.
Bf. Note via the change f have, $\log_{b}(x) = \frac{1}{e_{0}(b)} \cdot \frac{1}{x}$.
Bf. Note via the change f have, $\log_{b}(x) = \frac{1}{e_{0}(b)} \cdot \frac{1}{x}$.
Bf. Note via the change f have, $\log_{b}(x) = \frac{1}{e_{0}(b)} \cdot \frac{1}{x}$.
Bf. ($\log_{b}(x)$) = $\frac{1}{dx}\left(\frac{1}{(1+b)} + \frac{1}{x}\right)$, $f''(x) = -\frac{1}{e_{0}(b)} x^{-2} < 0$,
b>1
b>1
b>1
b>1
b>1
b>1
b>1
concentry of $f(x) = -\frac{1}{e_{0}(b)} x^{-2} > 0$,
since the b = 0 as $0 < b < 1 \Rightarrow 0$ means up
(man)
d b^{x} = (e_{0}b) b^{x}.
Concentry of $f(x) = b^{x}$:
 $\frac{1}{b^{x}}$
both cost: $f(x) = (e_{0}b) b^{x}$, $f'(x) = (f_{0}b) (h_{0}b) b^{x} = (e_{0}b)^{1} b^{x} > 0$,
concentry of

Examples on practically compare derivatives of
$$b^{N}$$
 and $\log_{1} x$;
Ex. Find $\frac{1}{dx} l_{n} \left(\frac{x^{\Sigma}}{2}\right)$.
Set Find, simplify:
 $f(x): l_{n} \left(\frac{x^{\Sigma}}{2}\right) = l_{n} \left(x^{\Sigma}\right) - l_{n} (1)$
 $= s + l_{n} \left(x^{\Sigma}\right) - l_{n} (2)$.
So $\frac{1}{dx} \left(x^{2} x^{N}\right) = \frac{1}{dx} \left(x^{1} x^{N}\right) = \frac{1}{2x}$.
Ex. Find $\frac{1}{dx} \left(x^{2} x^{N}\right) = \frac{1}{dx} \left(x^{1} x^{N}\right) = \frac{1}{2x}$.
Ex. Find $\frac{1}{dx} \left(x^{2} x^{N}\right) = \frac{1}{dx} \left(x^{1} x^{N}\right) = \frac{1}{2x} \left(\frac{1}{2} x^{N}\right)$
 $= 2 \times 2^{N} + x^{2} \left(\frac{1}{2} x^{2} x^{N}\right) = \frac{1}{2x} \left(\frac{1}{2} x^{N}\right)$
 $\frac{1}{dx} \left(x^{2} x^{N}\right) = \frac{1}{dx} \left(x^{1} x^{N}\right) = \frac{1}{2x} + \frac{1}{2} \left(\frac{1}{2} x^{N}\right)$
 $\frac{1}{dx} \left(x^{2} x^{N}\right) = \frac{1}{dx} \left(\frac{1}{2} x^{N}\right) = \frac{1}{2} \left(\frac{1}{2} x^{N}\right)$
 $\frac{1}{dx} \left(\frac{1}{2} x^{N}\right) = \frac{1}{2x} \left(\frac{1}{2} x^{N}\right) = \frac{1}{2} \left(\frac{1}{2} x^{N}\right)^{N}$
 $\frac{1}{dx} \left(\frac{1}{2} x^{N}\right) = \frac{1}{2x} \left(\frac{1}{2} x^{N}\right)^{-\frac{1}{2}}$
 $\frac{1}{dx} \left(\frac{1}{dx}\right)^{-\frac{1}{2}}$
 $\frac{1}{dx} \left(\frac{1}{dx}\right)^{-\frac{1}{2}}$

 $\frac{E_{x}}{S_{0}} = \frac{1}{f_{n(x)}} + \frac{f_{n(e)}}{f_{n(x)}} = \frac{1}{f_{n(x)}} + \frac{f_{n(e)}}{f_{n(x)}} = \frac{1}{f_{n(x)}} + \frac{f_{n(e)}}{f_{n(x)}} = \frac{1}{f_{n(x)}} + \frac{f_{n(e)}}{f_{n(x)}} + \frac{f_{n(e)}}{f_{n(e)}} = \frac{1}{f_{n(e)}} + \frac{f_{n(e)}}{f_{n(e)}} + \frac{f_{n(e)}}{f_{n(e)}} + \frac{f_{n(e)}}{f_{n(e)}} = \frac{1}{f_{n(e)}} + \frac{f_{n(e)}}{f_{n(e)}} + \frac{f_$ f=1, f'=0, $g = l_{m(x)}, g' = \frac{1}{x}.$ $\frac{d'}{dx} log_{x}(e) = \frac{f'g - fg'}{g^{2}} = \frac{-\frac{1}{x}}{(l_{m}(x))^{2}} = -\frac{1}{x(l_{m}(x))^{2}}.$